

GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 O: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

September 16, 2025

AWARD NOTICE BL084-25

Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract

Pursuant to the bids received on July 8, 2025 for BL084-25, Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract the bid has been awarded to 360 Network Solutions, LLC; CDK Enterprises, LLC dba Southern Lighting & Traffic Systems; Control Technologies, Inc.; Cubic ITS, Inc.; General Traffic Equipment Corp.; Temple, Inc.; Universal Signs and Accessories; Utilicom Supply Associates, LLC; and Wavetronix, LLC in the base bid amount of \$1,275,550.00. Please note the enclosed bid tabulation.

We appreciate your bid and interest in Gwinnett County.

Sincerely,

Michael Milstein

Michael Milstein Purchasing Associate II

MM/km

Enclosure

BID TABULATION

BL084-25
Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract

Departme	nt of Transportation												
				s Solutions, LLC OC)	Southern Lig Sys	rises, LLC dba ghting & Traffic stems OC)	Control Ted	chnologies, Inc. (L)	Cubic ITS, Inc. (OS)			fic Equipment Corp. (OS)	
ITEM #	DESCRIPTION	APPROX QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
1	Traffic Signal Complete Cabinet (with training)												
а	332A	10 EA	N/B	N/B	\$10,487.00	\$104,870.00	N/B	N/B	N/B	N/B	N/B	N/B	
b	Quad 332 Split Door	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	
2	DC Isolator for 332A Cabinet	15 EA	N/B	N/B	\$75.00	\$1,125.00	N/B	N/B	N/B	N/B	N/B	N/B	
3	Model 206 power supply for 332A Cabinet	10 EA	N/B	N/B	\$325.00	\$3,250.00	\$300.00	\$3,000.00	N/B	N/B	N/B	N/B	
4	336S Pole mount Cabinet	2 EA	N/B	N/B	\$9,975.00	\$19,950.00	N/B	N/B	N/B	N/B	N/B	N/B	
5	Auxiliary Output File (Does not include additional Load Switch / Switch Packs)	10 EA	N/B	N/B	\$995.00	\$9,950.00	\$1,100.00	\$11,000.00	N/B	N/B	N/B	N/B	
6	2070 LX Controller with current GDOT firmware (with training)	25 EA	N/B	N/B	N/B	N/B	\$3,810.00	\$95,250.00	N/B	N/B	N/B	N/B	
7	2070 1C Module with current GDOT firmware (with training)	50 EA	N/B	N/B	N/B	N/B	\$1,524.00	\$76,200.00	N/B	N/B	N/B	N/B	
8	2070-4 Power Supply Module	50 EA	N/B	N/B	\$450.00	\$22,500.00	\$600.00	\$30,000.00	N/B	N/B	N/B	N/B	
9	Field I/O Module												
a	2070-2A REJECTED	30 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	
b	2070-2E	30 EA 30 EA	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B \$1,332,00	N/B \$39,960.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	
C 10	2070-2E+ Load Switch, NEMA/170/2070 compatibility with input/output LED's	30 EA	N/B N/B	N/B N/B	\$36.00	\$1.080.00			N/B N/B	N/B	N/B N/B	N/B N/B	
10 11	Flasher, 2 circuit NEMA/170/2070 compatibility with input/output LED's	10 EA	N/B	N/B	\$36.00	\$1,080.00	N/B N/B	N/B N/B	N/B	N/B	N/B	N/B	
12	Standard Cabinet Flash Transfer Relay REJECTED	50 EA	N/B	N/B	\$36.00 N/B	\$360.00 N/B	N/B	N/B	N/B	N/B	N/B	N/B	
13	Surge protector, 120 volt AC, Single Phase Filter	5 EA	N/B	N/B	\$250.00	\$1,250.00	N/B	N/B	N/B	N/B	N/B	N/B	
14	Signal conflict monitor with event logging, Ethernet capable	U EX	14,5	.1, 5	Q200.00	Ç1,200.00	11,5	14,5	11,75	.1,5	14, 5	14,5	
а	Monitor (w/ training)	10 EA	N/B	N/B	\$1,150.00	\$11,500.00	N/B	N/B	N/B	N/B	N/B	N/B	
b	Monitor w/Program Tool (w/ training)	25 EA	N/B	N/B	\$1,655.00	\$41,375.00	N/B	N/B	N/B	N/B	N/B	N/B	
С	Datakey	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	
15	Loop detector, 2 channel rack mount, LCD display, programmable, scanning (with training)	30 EA	N/B	N/B	\$249.00	\$7,470.00	N/B	N/B	N/B	N/B	N/B	N/B	
16	Battery Backup System Cabinet with external generator hookup	2 EA	\$1,550.00	\$3,100.00	\$2,125.00	\$4,250.00	N/B	N/B	N/B	N/B	N/B	N/B	
17	Battery Backup System, Complete	5 EA	\$3,132.00	\$15,660.00	\$7,560.00	\$37,800.00	N/B	N/B	N/B	N/B	N/B	N/B	
18	Battery Backup System controller, equipped with Ethernet comm. module	2 EA	\$2,670.00	\$5,340.00	\$2,985.00	\$5,970.00	N/B	N/B	N/B	N/B	N/B	N/B	
19	Battery 12vdc, not less than 68 amp hrs, AGM	50 EA	N/B	N/B	\$220.00	\$11,000.00	N/B	N/B	N/B	N/B	N/B	N/B	
20	Beacon Cabinet Assembly												
a	Standard AC	5 EA	N/B	N/B	\$3,000.00	\$15,000.00	N/B	N/B	N/B	N/B	N/R	N/R	
b	Standard Solar Powered	5 EA	N/B	N/B	\$4,000.00	\$20,000.00	N/B	N/B N/B	N/B	N/B	N/B	N/B	
c	School Standard AC School Solar Powered	5 EA 5 EA	N/B N/B	N/B N/B	\$4,250.00 \$4.550.00	\$21,250.00 \$22,750.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	
21	Solar Battery, 12 vdc	5 EA	N/B	N/B	\$300.00	\$1,500.00	N/B	N/B	N/B	N/B	N/B	N/B	
22	Solar Panel	5 EA	N/B	N/B	\$300.00	\$1,500.00	N/B	N/B	N/B	N/B	N/B	N/B	
23	Morningstar Control Board Assembly for Solar Flasher	30 EA	N/B	N/B	\$165.00	\$4,950.00	N/B	N/B	N/B	N/B	N/B	N/B	
24	Pelco Solar Assembly Controls REJECTED	30 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	
25	Omron Clock	30 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	
26	Rectangular Rapid-Flashing Beacon (RRFB)												
а	Single Solar Assembly	5 EA	N/B	N/B	\$4,404.00	\$22,020.00	N/B	N/B	N/B	N/B	N/B	N/B	
b	Single AC Assembly	5 EA	N/B	N/B	\$4,300.00	\$21,500.00	N/B	N/B	N/B	N/B	N/B	N/B	
С	Back to Back Solar Assembly	5 EA	N/B	N/B	\$4,770.00	\$23,850.00	N/B	N/B	N/B	N/B	N/B	N/B	
d	Back to Back AC Assembly	5 EA	N/B	N/B	\$4,570.00	\$22,850.00	N/B	N/B	N/B	N/B	N/B	N/B	
e	Amber Light Bar	10 EA	N/B	N/B	\$650.00	\$6,500.00	N/B	N/B	N/B	N/B	N/B	N/B	
T	Cabinet and Solar Panel Assembly	5 EA 10 EA	N/B N/B	N/B N/B	\$1,350.00 \$415.00	\$6,750.00 \$4.150.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	
g h	Pushbutton Assembly, low voltage W16-7PR or W16-7PL, 24"x12"	5 EA	N/B N/B	N/B N/B	\$55.00	\$4,150.00	N/B N/B	N/B	N/B N/B	N/B	N/B N/B	N/B N/B	
27	Signal head, No lenses or reflectors, Black with tunnel visors	3 EA	IN/ D	IN/ D	\$55.00	\$275.00	IN/ D	IN/ D	IN/ D	IN/ D	IN/ D	IN/ D	
a	3-section 12" black polycarbonate	100 EA	N/B	N/B	\$180.00	\$18,000,00	N/B	N/B	N/B	N/B	\$172.00	\$17.200.00	
b	4-section 12" black polycarbonate	25 EA	N/B	N/B	\$220.00	\$5,500.00	N/B	N/B	N/B	N/B	\$218.00	\$5,450.00	
28	Backplate, with 2" reflective border	25 EA	, 5	.4/5	\$220.00	\$5,500.00	.,,,,	.,,,,	.,,,,	.4/5	\$2.0.00	ÇO, 100.00	
a	one piece ABS 3-section 12"	100 EA	N/B	N/B	\$125.00	\$12,500.00	N/B	N/B	N/B	N/B	\$88.00	\$8,800.00	
b	one piece ABS 4-section 12"	25 EA	N/B	N/B	\$155.00	\$3,875.00	N/B	N/B	N/B	N/B	\$108.00	\$2,700.00	
С	ABS 4-section 12" "T" w/PELCO SE-5059	5 EA	N/B	N/B	\$220.00	\$1,100.00	N/B	N/B	N/B	N/B	\$264.00	\$1,320.00	
d	ABS 5-section 12" cluster w/PELCO SE-5059	5 EA	N/B	N/B	\$220.00	\$1,100.00	N/B	N/B	N/B	N/B	\$264.00	\$1,320.00	
29	High intensity/sway LED traffic signal modules												
а	green ball, per specifications	250 EA	N/B	N/B	\$42.00	\$10,500.00	N/B	N/B	N/B	N/B	\$40.00	\$10,000.00	
b	yellow ball, per specifications	250 EA	N/B	N/B	\$42.00	\$10,500.00	N/B	N/B	N/B	N/B	\$40.00	\$10,000.00	
С	red ball, per specifications	250 EA	N/B	N/B	\$42.00	\$10,500.00	N/B	N/B	N/B	N/B	\$40.00	\$10,000.00	
d	green arrow, per specifications	100 EA	N/B	N/B	\$42.00	\$4,200.00	N/B	N/B	N/B	N/B	\$45.00	\$4,500.00	
e	yellow arrow, per specifications	100 EA 100 EA	N/B N/B	N/B N/B	\$42.00 \$42.00	\$4,200.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	\$45.00 \$45.00	\$4,500.00 \$4.500.00	
<u> </u>	red arrow, per specifications	IUU EA	IN/B	N/R	\$42.00	\$4,200.00	N/R	I N/B	N/B	N/B	\$45.00	\$4,500.00	

PAGE 1 of 7

BID TABULATION PAGE 2 of 7

BL084-25
Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract
Department of Transportation

Departin	ent of Transportation		360 Network Solutions, LLC (OC)		CDK Enterprises, LLC dba Southern Lighting & Traffic Systems (OC)		Control Technologies, Inc. (L)		Cubic ITS, Inc. (OS)			Equipment Corp.
				r	,	•		r		T		T
ITEM #	DESCRIPTION	APPROX QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE		UNIT PRICE	TOTAL PRICE	UNIT PRICE		UNIT PRICE	TOTAL PRICE
g	bimodal arrow, flashing yellow arrow/green arrow, per specifications green u-turn arrow, per specifications	100 EA 100 EA	N/B N/B	N/B N/B	\$135.00 \$110.00	\$13,500.00 \$11,000.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	\$126.00 \$68.00	\$12,600.00 \$6.800.00
- II	yellow u-turn arrow, per specifications	100 EA	N/B	N/B	\$110.00	\$11,000.00	N/B	N/B	N/B	N/B	\$68.00	\$6,800.00
	red u-turn arrow, per specifications	100 EA	N/B	N/B	\$110.00	\$11,000.00	N/B	N/B	N/B	N/B	\$68.00	\$6,800.00
,	Tod a tarm arrow, per operandations			·								
k	bimodal u-turn arrow, flashing yellow u-turn arrow/green u-turn arrow, per specifications	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	\$126.00	\$12,600.00
30	LED traffic signal module, 12 volt DC, yellow ball	10 EA	N/B	N/B	\$135.00	\$1,350.00	N/B	N/B	N/B	N/B	\$135.00	\$1,350.00
31	Countdown LED pedestrian signal module, hand/man symbol	25 EA	N/B	N/B	\$139.00	\$3,475.00	N/B	N/B	N/B	N/B	\$148.00	\$3,700.00
32	Pedestrian signal head, Complete - black 1-section with Countdown LED hand/man	50 EA	N/B	N/B	\$440.00	\$22,000.00	N/B	N/B	N/B	N/B	\$305.00	\$15,250.00
	symbol											
33	Clamshell 2 mount, black	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	\$62.50	\$1,562.50
34	Pedestrian 1-way poly bracket assembly	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
35	Pedestrian Pushbutton Setup											
а	Pedestrian pushbutton station, black 9" x 15" with Vandal resistant, piezo switch button per specs installed	50 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
b	Vandal resistant Pedestrian pushbutton with piezo switch and adaptors, per specifications	50 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
С	9" x 15" pushbutton sign - countdown legend with right arrow	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
d	9" x 15" pushbutton sign - countdown legend with left arrow	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
е	Pushbutton standoff kit, black, A1, 9x15 to 4.5 pole P2 REJECTED	50 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
f	Double pushbutton station adaptor, black	25 EA	N/B	N/B	\$205.00	\$5,125.00	N/B	N/B	N/B	N/B	N/B	N/B
36	Accessible Pushbutton Setup							=				
a	Complete Intersection System (8 Buttons)	30 EA	N/B	N/B	N/B	N/B	N/B	N/B N/B	N/B	N/B	N/B	N/B
b	Pedestrian Pushbuttons	20 EA	N/B	N/B	N/B	N/B	N/B		N/B	N/B	N/B	N/B
c 37	Pedestrian Signs Spanwire signal hanger assy., tri-stud black	20 EA 20 EA	N/B N/B	N/B N/B	N/B \$106.00	N/B \$2,120.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/R	N/B N/R
38	Spanwire signal nanger assy., tri-stud black Spanwire clamp	10 EA	N/B	N/B N/B	\$106.00	\$420.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/R N/R	N/R N/R
39	Signal closure cap, black, aluminum or polycarbonate, w/locknut 1 ½" X 7/8"	20 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/R	N/R
40	Cabinet mounting assembly, 4" pole	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
41	Sign mount assembly, U-bolt, 4" pole	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
42	2-way upper/lower tri-stud arm assembly., black	10 EA	N/B	N/B	\$140.00	\$1,400.00	N/B	N/B	N/B	N/B	\$108.00	\$1,080.00
43	Pedestal Flange Base/Galv. Iron	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
44	Sign hanger assembly for span wire	20 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
45	Astro Sign-Brac, Galaxy Cable Mount for Overhead Street Name Signs for 120" sign blade											
а	PNC	110 EA	N/B	N/B	\$335.00	\$36,850.00	N/B	N/B	N/B	N/B	N/R	N/R
b	Gloss black	110 EA	N/B	N/B	\$395.00	\$43,450.00	N/B	N/B	N/B	N/B	N/R	N/R
46	Mast arm mounting assembly											
a	3-section with 46" tube, PNC	10 EA	N/B	N/B	\$224.00	\$2,240.00	N/B	N/B	N/B	N/B	N/R	N/R
b	3-section with 46" tube, Gloss black	10 EA	N/B	N/B	\$243.00	\$2,430.00	N/B	N/B	N/B	N/B	N/R	N/R
c	4-section with 58" tube, PNC 4-section with 58" tube, Gloss black	5 EA 5 EA	N/B N/B	N/B N/B	\$229.00 \$265.00	\$1,145.00 \$1,325.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/R N/R	N/R N/R
e	5-section with 37" tube, PNC	10 EA	N/B	N/B	\$359.00	\$3,590.00	N/B	N/B	N/B	N/B	N/R	N/R
f	5-section with 37" tube, Floor 5-section with 37" tube, Gloss black	10 EA	N/B	N/B	\$443.00	\$4,430.00	N/B	N/B	N/B	N/B	N/R	N/R
ď	10' Gusset Tube, PNC	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	\$118.00	\$1.180.00
h	10' Gusset Tube, Gloss black	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	\$135.00	\$1,350.00
47	Clamp Kit for mast arm attachments, 96" minimum cable length	10 EA	N/B	N/B	\$144.00	\$1,440.00	N/B	N/B	N/B	N/B	N/R	N/R
48	Square base pedestrian pole assembly											
а	PNC	50 EA	N/B	N/B	\$259.00	\$12,950.00	N/B	N/B	N/B	N/B	N/R	N/R
b	Gloss black	50 EA	N/B	N/B	\$274.00	\$13,700.00	N/B	N/B	N/B	N/B	N/R	N/R
49	Spun aluminum pole shaft											
а	4"x5', mill finish, PNC	10 EA	N/B	N/B	\$155.00	\$1,550.00	N/B	N/B	N/B	N/B	\$175.00	\$1,750.00
b	4"x5', gloss black	5 EA	N/B	N/B	\$223.00	\$1,115.00	N/B	N/B	N/B	N/B	\$205.00	\$1,025.00
C	4"x10', mill finish, PNC	20 EA	N/B	N/B	\$345.00	\$6,900.00	N/B	N/B	N/B	N/B	\$315.00	\$6,300.00
d	4"x10', gloss black	10 EA	N/B	N/B	\$434.00	\$4,340.00	N/B	N/B	N/B	N/B	\$385.00	\$3,850.00
e	4"x14', mill finish, PNC	20 EA	N/B	N/B	\$475.00	\$9,500.00	N/B	N/B	N/B	N/B	\$565.00	\$11,300.00
50	4"x14', gloss black Post cap, 4" acorn	5 EA	N/B	N/B	\$590.00	\$2,950.00	N/B	N/B	N/B	N/B	\$630.00	\$3,150.00
a	PNC	25 EA	N/B	N/B	\$25.00	\$625.00	N/B	N/B	N/B	N/B	N/R	N/R
h	Gloss black	20 EA	N/B	N/B	\$25.00	\$600.00	N/B	N/B	N/B	N/B	N/R N/R	N/R
51	Pole collar assembly	20 LA	14/15	14/10	Ç00.00	Ç000.00	14/10	11/0	11/10	14/10	14/11	14/11

BID TABULATION PAGE 3 of 7

BL084-25
Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract
Population

Departme	nt of Transportation											
			360 Network Solutions, LLC (OC) CDK Enterprises, LLC dba Southern Lighting & Traffic Systems (OC) (OC) (L)		• .	Cubic ITS, Inc. (OS)		General Traffic Equipment (OS)				
ITEM #	DESCRIPTION	APPROX QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
а	PNC	25 EA	N/B	N/B	\$99.00	\$2,475,00	N/B	N/B	N/B	N/B	N/R	N/R
b	Gloss black	20 EA	N/B	N/B	\$113.00	\$2,260.00	N/B	N/B	N/B	N/B	\$108.00	\$2,160.00
52	Streetlight foundation, 6"x5',9-14"bc	15 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
53	Loop sealant, 1 liter ply pack tube, 12 tubes per case (black or gray)	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
54	Footpad 24" x 36" composite	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
55	Precast cabinet base for 332 cabinet only	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
56	Precast cabinet base for 332 and BBS cabinets	15 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
57	Pullbox											
а	Type 1, Cover Only 12x12 w/ "TRAFFIC SIGNAL" logo	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
	Type 2, Cover only 13x24 w/ "TRAFFIC SIGNAL" logo	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
С	Type 3, Cover only 17x30 w/ "TRAFFIC SIGNAL" logo	3 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
d	Type 4, Cover only 24x36 w/ "TRAFFIC SIGNAL" logo	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
	Type 4. Cover only 24x36 w/ "GWINNETT DOT" logo	5 FA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
f	Type 5, Cover only 30x48, Split lid w/ "GWINNETT DOT" logo	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
g	Type 1, 12"x12"x12" composite box assembly w/ locking cover w/ "TRAFFIC SIGNAL" logo	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
h	Type 2, 13"x24"x12" composite box assembly w/ locking cover w/ "TRAFFIC SIGNAL" logo	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
i	Type 3, 17"x30"x12" composite box assembly w/ locking cover w/ "TRAFFIC SIGNAL" logo	15 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
j	Type 4, 24"x36"x36" composite stacked box assembly w/ locking cover w/ "TRAFFIC SIGNAL" logo	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
k	Type 4S, 24"x36"x18" composite box assembly w/ locking cover w/ "GWINNETT DOT" logo	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
I	Type 5, 30"x48"x36" composite stacked box assembly w/ locking split lid cover w/ "GWINNETT DOT" logo	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
m	Type 7, 30"x48"x36" composite box assembly w/ locking split lid cover w/ "GWINNETT DOT" logo	2 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
58	CCTV Camera System, Type 1 Assembly, Complete	10 EA	\$2,895.00	\$28,950.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
59	Intersection Video Detection											
а	Complete 6 camera system	5 EA	\$16,440.00	\$82,200.00	N/B	N/B	\$25,000.00	\$125,000.00	\$35,410.00	\$177,050.00	N/B	N/B
b	Camera assembly	5 EA	\$995.00	\$4,975.00	N/B	N/B	\$6,057.00	\$30,285.00	\$4,275.00	\$21,375.00	N/B	N/B
С	Detection processor	5 EA	\$11,400.00	\$57,000.00	N/B	N/B	\$18,950.00	\$94,750.00	\$13,065.00	\$65,325.00	N/B	N/B
d	Complete 2 camera wired system	5 EA	\$13,390.00	\$66,950.00	N/B	N/B	N/B	N/B	\$27,495.00	\$137,475.00	N/B	N/B
е	Complete 2 camera wireless system	5 EA	\$14,125.00	\$70,625.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
f	Suppression	10 EA	\$125.00	\$1,250.00	N/B	N/B	N/B	N/B	\$440.00	\$4,400.00	N/B	N/B
60	Broadband (5.8 GHz) Wireless Ethernet Radio System, Complete	5 EA	\$1,350.00	\$6,750.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
61	Microwave Vehicle Detection											
а	System, Complete	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
b	Emitter (setback)	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
С	Emitter (stop bar)	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
	System Processor	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
62	Luminaire Arm											
а	10 ft, aluminum	5 EA	N/B	N/B	\$475.00	\$2,375.00	N/B	N/B	N/B	N/B	N/B	N/B
b	15 ft, aluminum	5 EA	N/B	N/B	\$895.00	\$4,475.00	N/B	N/B	N/B	N/B	N/B	N/B
С	20 ft, aluminum	5 EA	N/B	N/B	\$1,275.00	\$6,375.00	N/B	N/B	N/B	N/B	N/B	N/B
63	3/4" Ground rod REJECTED	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
64	Down guy anchor rods 7ft	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
65	8" anchor bell (5/8" & 3/4" rod)	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
66 67	Universal telescoping pedestrian pushbutton extension bracket w/ 90-degree adapter Vibration dampers	50 EA	N/B N/B	N/B N/B	\$295.00 N/B	\$14,750.00 N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B
	- Contraction of the Contraction	TOTAL		,800.00		950.00		5,445.00		,625.00		897.50
	Will Vendor Hold Pricing Firm? R			crease		ncrease		ncrease		•		ncrease
	Will Vendor Hold Pricing Firm? R			rcrease		rcrease		ncrease	3% increase 3% increase			ncrease
	•	<u> </u>										
	Will Vendor Hold Pricing Firm? R Will Vendor Hold Pricing Firm? R			ncrease		ncrease		increase increase		ncrease		ncrease
			•								•	

BID TABULATION

BL084-25
Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract

Departme	nt of Transportation				_		1					
				Plus, Inc. (OS)		pple, Inc. (OS)		s and Accessories (OS)		Utilicom Supply Associates, LLC (L)		ronix, LLC OS)
ITEM#	DESCRIPTION	APPROX QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	Traffic Signal Complete Cabinet (with training)	10.51	NUD	N/D	N/D	11/5	N/D	N/5	A44 F40 00	445 600 00	11/5	11/2
a	332A	10 EA	N/B	N/B	N/R	N/R	N/B	N/B	\$11,560.00	\$115,600.00	N/B	N/B
b	Quad 332 Split Door DC Isolator for 332A Cabinet	5 EA 15 EA	N/B N/B	N/B N/B	N/R \$59.00	N/R \$885.00	N/B N/B	N/B N/B	\$13,756.00 \$63.87	\$68,780.00 \$958.05	N/B N/B	N/B N/B
3	Model 206 power supply for 332A Cabinet	10 EA	N/B	N/B	\$311.00	\$3,110.00	N/B	N/B	\$359.00	\$3.590.00	N/B	N/B
4	336S Pole mount Cabinet	2 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$10,420.00	\$20,840.00	N/B	N/B
5	Auxiliary Output File (Does not include additional Load Switch / Switch Packs)	10 EA	N/B	N/B	\$530.00	\$5,300.00	N/B	N/B	\$790.00	\$7,900.00	N/B	N/B
6	2070 LX Controller with current GDOT firmware (with training)	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
7	2070 1C Module with current GDOT firmware (with training)	50 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
8	2070-4 Power Supply Module Field I/O Module	50 EA	N/B	N/B	\$364.67	\$18,233.50	N/B	N/B	\$325.00	\$16,250.00	N/B	N/B
a	2070-2A REJECTED	30 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
b	2070-2E	30 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$667.00	\$20.010.00	N/B	N/B
С	2070-2E+	30 EA	N/B	N/B	\$768.00	\$23,040.00	N/B	N/B	\$667.00	\$20,010.00	N/B	N/B
10	Load Switch, NEMA/170/2070 compatibility with input/output LED's	30 EA	N/B	N/B	\$30.00	\$900.00	N/B	N/B	\$24.10	\$723.00	N/B	N/B
11	Flasher, 2 circuit NEMA/170 compatibility	10 EA	N/B	N/B	\$42.00	\$420.00	N/B	N/B	\$36.70	\$367.00	N/B	N/B
12 13	Standard Cabinet Flash Transfer Relay REJECTED	50 EA	N/B N/B	N/B N/B	N/B	N/B N/B	N/B N/B	N/B N/B	N/B \$125.00	N/B \$625.00	N/B N/B	N/B N/B
13	Surge protector, 120 volt AC, Single Phase Filter Signal conflict monitor with event logging, Ethernet capable	5 EA	IN/B	IN/B	N/B	N/B	N/B	N/B	\$125.00	\$025.00	N/B	N/B
14 a	Monitor (w/ training)	10 EA	N/B	N/B	\$1,177.54	\$11,775.40	N/B	N/B	\$1,365.00	\$13,650.00	N/B	N/B
b	Monitor w/Program Tool (w/ training)	25 EA	N/B	N/B	\$1,783.54	\$44,588.50	N/B	N/B	\$2,049.00	\$51,225.00	N/B	N/B
С	Datakey	100 EA	N/B	N/B	\$36.51	\$3,651.00	N/B	N/B	\$723.00	\$72,300.00	N/B	N/B
15	Loop detector, 2 channel rack mount, LCD display, programmable, scanning (with training)	30 EA	N/B	N/B	\$304.00	\$9,120.00	N/B	N/B	\$343.00	\$10,290.00	N/B	N/B
16	Battery Backup System Cabinet with external generator hookup	2 EA	N/B	N/B	\$6,957.00	\$13,914.00	N/B	N/B	N/B	N/B	N/B	N/B
17	Battery Backup System, Complete	5 EA	N/B	N/B	\$6,957.00	\$34,785.00	N/B	N/B	N/B	N/B	N/B	N/B
18 19	Battery Backup System controller, equipped with Ethernet comm. module	2 EA	N/B N/B	N/B N/B	\$1,997.85 \$258.00	\$3,995.70	N/B	N/B	N/B	N/B	N/B	N/B N/B
20	Battery 12vdc, not less than 68 amp hrs, AGM Beacon Cabinet Assembly	50 EA	N/B	N/B	\$258.00	\$12,900.00	N/B	N/B	N/B	N/B	N/B	N/B
a	Standard AC	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
b	Standard Solar Powered	5 EA	N/B	N/B	\$4,167.00	\$20,835.00	N/B	N/B	N/B	N/B	N/B	N/B
С	School Standard AC	5 EA	N/B	N/B	\$3,954.00	\$19,770.00	N/B	N/B	N/B	N/B	N/B	N/B
d	School Solar Powered	5 EA	N/B	N/B	\$5,070.00	\$25,350.00	N/B	N/B	N/B	N/B	N/B	N/B
21	Solar Battery, 12 vdc	5 EA	N/B	N/B	\$403.43	\$2,017.15	N/B	N/B	\$307.00	\$1,535.00	N/B	N/B
22	Solar Panel	5 EA	N/B	N/B	\$848.64	\$4,243.20	N/B	N/B	\$581.00	\$2,905.00	N/B	N/B
23 24	Morningstar Control Board Assembly for Solar Flasher Pelco Solar Assembly Controls REJECTED	30 EA 30 EA	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B
25	Omron Clock	30 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$375.00	\$11,250.00	N/B	N/B
26	Rectangular Rapid-Flashing Beacon (RRFB)	30 LA	N/B	14/ D	IV/D	IV/D	IN/ B	IV/ D	3373.00	\$11,230.00	IV/ B	IV/ B
a	Single Solar Assembly	5 EA	N/B	N/B	\$6,954.00	\$34,770.00	\$3,562.23	\$17,811.15	\$4,865.00	\$24,325.00	N/B	N/B
b	Single AC Assembly	5 EA	N/B	N/B	N/B	N/B	\$3,625.98	\$18,129.90	\$3,885.00	\$19,425.00	N/B	N/B
С	Back to Back Solar Assembly	5 EA	N/B	N/B	\$8,064.00	\$40,320.00	\$4,277.33	\$21,386.65	\$5,389.37	\$26,946.85	N/B	N/B
d	Back to Back AC Assembly	5 EA	N/B	N/B	N/B	N/B	\$4,341.08	\$21,705.40	\$4,357.00	\$21,785.00	N/B	N/B
e f	Amber Light Bar Cabinet and Solar Panel Assembly	10 EA 5 EA	N/B N/B	N/B N/B	\$806.00 N/B	\$8,060.00 N/B	\$690.81 \$1,535.61	\$6,908.10 \$7.678.05	\$338.00 \$2,263.00	\$3,380.00 \$11.315.00	N/B N/B	N/B N/B
g	Pushbutton Assembly, low voltage	10 EA	N/B	N/B	\$250.00	\$2,500.00	\$1,535.61	\$7,678.05	\$2,263.00	\$9,960.00	N/B	N/B
h	W16-7PR or W16-7PL, 24"x12"	5 EA	N/B	N/B	\$250.00 N/B	\$2,300.00 N/B	\$35.12	\$175.60	\$65.00	\$325.00	N/B	N/B
27	Signal head, No lenses or reflectors, Black with tunnel visors	J 25.	,5	, 5	,5	.,,5	+ 20.12	Ţ 0.00		Ţ	,2	,2
а	3-section 12" black polycarbonate	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$181.00	\$18,100.00	N/B	N/B
b	4-section 12" black polycarbonate	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$256.00	\$6,400.00	N/B	N/B
28	Backplate, with 2" reflective border						A/ :=		****	*****		
a	one piece ABS 3-section 12"	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$121.25	\$12,125.00	N/B	N/B
b C	one piece ABS 4-section 12" ABS 4-section 12" "T" w/PELCO SE-5059	25 EA 5 EA	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	\$165.00 \$329.00	\$4,125.00 \$1.645.00	N/B N/B	N/B N/B
d	ABS 4-section 12 T W/PELCO SE-5059 ABS 5-section 12" cluster w/PELCO SE-5059	5 EA	N/B	N/B	N/B N/B	N/B N/B	N/B	N/B	\$329.00 \$329.00	\$1,645.00	N/B	N/B
29	High intensity/sway LED traffic signal modules	J EM	IV/D	14/ D	IV/D	IV/D	14/ D	IV/D	QUZ9.00	\$1,040.00	IV/D	IV/D
a	green ball, per specifications	250 EA	N/B	N/B	\$43.34	\$10,835.00	N/B	N/B	\$28.21	\$7,052.50	N/B	N/B
b	yellow ball, per specifications	250 EA	N/B	N/B	\$43.34	\$10,835.00	N/B	N/B	\$28.21	\$7,052.50	N/B	N/B
С	red ball, per specifications	250 EA	N/B	N/B	\$43.34	\$10,835.00	N/B	N/B	\$28.21	\$7,052.50	N/B	N/B
d	green arrow, per specifications	100 EA	N/B	N/B	\$44.67	\$4,467.00	N/B	N/B	\$32.82	\$3,282.00	N/B	N/B
e	yellow arrow, per specifications	100 EA	N/B	N/B	\$44.67	\$4,467.00	N/B	N/B	\$32.82	\$3,282.00	N/B	N/B
f	red arrow, per specifications	100 EA	N/B	N/B	\$44.67	\$4,467.00	N/B	N/B	\$32.82	\$3,282.00	N/B	N/B

PAGE 4 of 7

BID TABULATION

BL084-25
Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract

Departme	nt of Transportation												
				ITS Plus, Inc. (OS)		Temple, Inc. (OS)		Universal Signs and Accessories (OS)		Utilicom Supply Associates, LLC (L)		Wavetronix, LLC (OS)	
ITEM#	DESCRIPTION	APPROX QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
g	bimodal arrow, flashing yellow arrow/green arrow, per specifications	100 EA	N/B	N/B	\$159.34	\$15,934.00	N/B	N/B	\$83.17	\$8,317.00	N/B	N/B	
h	green u-turn arrow, per specifications	100 EA	N/B	N/B	\$63.34	\$6,334.00	N/B	N/B	\$61.58	\$6,158.00	N/B	N/B	
i	yellow u-turn arrow, per specifications	100 EA	N/B	N/B	\$63.34	\$6,334.00	N/B	N/B	\$61.58	\$6,158.00	N/B	N/B	
J	red u-turn arrow, per specifications	100 EA	N/B	N/B	\$63.34	\$6,334.00	N/B	N/B	\$61.58	\$6,158.00	N/B	N/B	
k	bimodal u-turn arrow, flashing yellow u-turn arrow/green u-turn arrow, per specifications	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$110.77	\$11,077.00	N/B	N/B	
30	LED traffic signal module, 12 volt DC, yellow ball	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$55.00	\$550.00	N/B	N/B	
31	Countdown LED pedestrian signal module, hand/man symbol	25 EA	N/B	N/B	\$143.34	\$3,583.50	N/B	N/B	\$107.00	\$2,675.00	N/B	N/B	
32	Pedestrian signal head, Complete - black 1-section with Countdown LED hand/man symbol	50 EA	N/B	N/B	\$330.00	\$16,500.00	N/B	N/B	\$393.00	\$19,650.00	N/B	N/B	
33	Clamshell 2 mount, black	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$81.25	\$2,031.25	N/B	N/B	
34	Pedestrian 1-way poly bracket assembly	25 EA	N/B	N/B	\$49.34	\$1,233.50	N/B	N/B	N/B	N/B	N/B	N/B	
35	Pedestrian Pushbutton Setup												
а	Pedestrian pushbutton station, black 9" x 15" with Vandal resistant, piezo switch button per specs installed	50 EA	N/B	N/B	\$233.37	\$11,668.50	N/B	N/B	N/B	N/B	N/B	N/B	
b	Vandal resistant Pedestrian pushbutton with piezo switch and adaptors, per specifications	50 EA	N/B	N/B	\$105.00	\$5,250.00	N/B	N/B	N/B	N/B	N/B	N/B	
С	9" x 15" pushbutton sign - countdown legend with right arrow	25 EA	N/B	N/B	\$42.00	\$1,050.00	N/B	N/B	\$27.75	\$693.75	N/B	N/B	
d	9" x 15" pushbutton sign - countdown legend with left arrow	25 EA	N/B	N/B	\$42.00	\$1,050.00	N/B	N/B	\$27.75	\$693.75	N/B	N/B	
е	Pushbutton standoff kit, black, A1, 9x15 to 4.5 pole P2 REJECTED	50 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	
f	Double pushbutton station adaptor, black	25 EA	N/B	N/B	\$119.59	\$2,989.75	N/B	N/B	\$214.00	\$5,350.00	N/B	N/B	
36	Accessible Pushbutton Setup	00.54	N/D	11/5	0000004	4050 007 00	N/D	N/D	N/D	N/D	11/5	11/2	
a	Complete Intersection System (8 Buttons)	30 EA	N/B	N/B	\$8,360.24	\$250,807.20	N/B	N/B	N/B	N/B	N/B	N/B	
b	Pedestrian Pushbuttons	20 EA 20 EA	N/B N/B	N/B N/B	\$582.00 \$42.95	\$11,640.00 \$859.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	
27	Pedestrian Signs Spanwire signal hanger assy., tri-stud black	20 EA	N/B	N/B	\$42.95	\$1,900.00	N/B	N/B	\$109.55	\$2,191.00	N/B	N/B	
38	Spanwire signal hanger assy., tri-stud black Spanwire clamp	10 EA	N/B	N/B	\$40.00	\$1,900.00	N/B	N/B	\$36.40	\$2,191.00	N/B	N/B	
39	Signal closure cap, black, aluminum or polycarbonate, w/locknut 1 ½" X 7/8"	20 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$6.13	\$122.60	N/B	N/B	
40	Cabinet mounting assembly, 4" pole	10 EA	N/B	N/B	\$54.00	\$540.00	N/B	N/B	\$45.87	\$458.70	N/B	N/B	
41	Sign mount assembly, U-bolt, 4" pole	10 EA	N/B	N/B	\$43.00	\$430.00	N/B	N/B	\$37.24	\$372.40	N/B	N/B	
42	2-way upper/lower tri-stud arm assembly., black	10 EA	N/B	N/B	\$145.00	\$1,450.00	N/B	N/B	\$160.41	\$1,604.10	N/B	N/B	
43	Pedestal Flange Base/Galv. Iron	25 EA	N/B	N/B	\$131.00	\$3,275.00	N/B	N/B	\$135.66	\$3,391.50	N/B	N/B	
44	Sign hanger assembly for span wire	20 EA	N/B	N/B	\$106.00	\$2,120.00	N/B	N/B	\$117.21	\$2,344.20	N/B	N/B	
45	Astro Sign-Brac, Galaxy Cable Mount for Overhead Street Name Signs for 120" sign blade												
а	PNC	110 EA	N/B	N/B	\$320.00	\$35,200.00	N/B	N/B	\$445.50	\$49,005.00	N/B	N/B	
b	Gloss black	110 EA	N/B	N/B	\$339.00	\$37,290.00	N/B	N/B	\$511.43	\$56,257.30	N/B	N/B	
46	Mast arm mounting assembly												
а	3-section with 46" tube, PNC	10 EA	N/B	N/B	\$211.00	\$2,110.00	N/B	N/B	\$280.19	\$2,801.90	N/B	N/B	
b	3-section with 46" tube, Gloss black	10 EA	N/B	N/B	\$237.00	\$2,370.00	N/B	N/B	\$319.90	\$3,199.00	N/B	N/B	
c	4-section with 58" tube, PNC	5 EA	N/B	N/B	\$219.00	\$1,095.00	N/B	N/B	\$292.10	\$1,460.50	N/B	N/B	
d	4-section with 58" tube, Gloss black	5 EA	N/B N/B	N/B N/B	\$259.00 \$343.00	\$1,295.00	N/B N/B	N/B N/B	\$353.59 \$480.71	\$1,767.95 \$4.807.10	N/B N/B	N/B N/B	
e	5-section with 37" tube, PNC	10 EA	N/B	N/B	\$343.00	\$3,430.00 \$4,010.00	N/B	N/B	\$480.71	\$4,807.10	N/B	N/B	
a a	5-section with 37" tube, Gloss black 10' Gusset Tube, PNC	10 EA 10 EA	N/B	N/B	\$128.00	\$1,280.00	N/B	N/B	\$155.30	\$1,553.00	N/B	N/B	
h h	10' Gusset Tube, FNC	10 EA	N/B	N/B	\$142.00	\$1,420.00	N/B	N/B	\$176.19	\$1,761.90	N/B	N/B	
47	Clamp Kit for mast arm attachments, 96" minimum cable length	10 EA	N/B	N/B	\$142.00	\$1,320.00	N/B	N/B	\$176.19	\$1,509.90	N/B	N/B	
48	Square base pedestrian pole assembly		,5	.,,,,	Ç.32.00	Ç.,520.00	.4,5	.4/5	Ç.50.77	Ç.,505.50	, 5	, 5	
	PNC	50 EA	N/B	N/B	\$219.00	\$10,950.00	N/B	N/B	\$282.00	\$14,100.00	N/B	N/B	
b	Gloss black	50 EA	N/B	N/B	\$235.00	\$11,750.00	N/B	N/B	\$323.00	\$16,150.00	N/B	N/B	
49	Spun aluminum pole shaft												
а	4"x5', mill finish, PNC	10 EA	N/B	N/B	\$152.00	\$1,520.00	N/B	N/B	\$193.00	\$1,930.00	N/B	N/B	
b	4"x5', gloss black	5 EA	N/B	N/B	\$199.00	\$995.00	N/B	N/B	\$255.00	\$1,275.00	N/B	N/B	
С	4"x10', mill finish, PNC	20 EA	N/B	N/B	\$582.00	\$11,640.00	N/B	N/B	\$390.00	\$7,800.00	N/B	N/B	
d	4"x10', gloss black	10 EA	N/B	N/B	\$669.00	\$6,690.00	N/B	N/B	\$505.00	\$5,050.00	N/B	N/B	
e	4"x14', mill finish, PNC	20 EA	N/B	N/B	\$684.00	\$13,680.00	N/B	N/B	\$525.00	\$10,500.00	N/B	N/B	
f	4"x14', gloss black	5 EA	N/B	N/B	\$774.00	\$3,870.00	N/B	N/B	\$643.10	\$3,215.50	N/B	N/B	
	Post cap, 4" acorn PNC	25 EA	N/B	N/D	\$25.00	\$625.00	N/B	N/D	\$28.00	\$700.00	N/B	N/B	
a b	Gloss black	25 EA 20 EA	N/B	N/B N/B	\$25.00	\$625.00	N/B	N/B N/B	\$28.00	\$700.00 \$700.00	N/B	N/B	
	Pole collar assembly	ZU EM	IV/D	IN/ D	Ş30.00	\$000.00	11/ 0	IN/ D	Ç33.00	\$7,00.00	IV/D	IV/D	
υI	i die Conai assentitiy												

PAGE 5 of 7

BID TABULATION PAGE 6 of 7

BL084-25
Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract

Departme	ent of Transportation											
			ITS	ITS Plus, Inc. (OS)		nple, Inc. (OS)		s and Accessories OS)		y Associates, LLC (L)	Wavetronix, LLC (OS)	
ITEM #	DESCRIPTION	APPROX QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
а	PNC	25 EA	N/B	N/B	\$97.00	\$2,425.00	N/B	N/B	\$115.00	\$2,875.00	N/B	N/B
b	Gloss black	20 EA	N/B	N/B	\$101.00	\$2,020.00	N/B	N/B	\$120.60	\$2,412.00	N/B	N/B
52	Streetlight foundation, 6"x5',9-14"bc	15 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$656.00	\$9,840.00	N/B	N/B
53	Loop sealant, 1 liter ply pack tube, 12 tubes per case (black or gray)	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$225.00	\$5,625.00	N/B	N/B
54	Footpad 24" x 36" composite	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$258.00	\$6,450.00	N/B	N/B
55	Precast cabinet base for 332 cabinet only	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$724.00	\$3,620.00	N/B	N/B
56	Precast cabinet base for 332 and BBS cabinets	15 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$1,239.00	\$18,585.00	N/B	N/B
57	Pullbox											
а	Type 1, Cover Only 12x12 w/ "TRAFFIC SIGNAL" logo	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$71.00	\$355.00	N/B	N/B
b	Type 2, Cover only 13x24 w/ "TRAFFIC SIGNAL" logo	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$133.00	\$1,330.00	N/B	N/B
С	Type 3, Cover only 17x30 w/ "TRAFFIC SIGNAL" logo	3 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$191.00	\$573.00	N/B	N/B
d	Type 4, Cover only 24x36 w/ "TRAFFIC SIGNAL" logo	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$316.00	\$3,160.00	N/B	N/B
е	Type 4, Cover only 24x36 w/ "GWINNETT DOT" logo	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$316.00	\$1,580.00	N/B	N/B
f	Type 5, Cover only 30x48, Split lid w/ "GWINNETT DOT" logo	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$678.00	\$3,390.00	N/B	N/B
_	Type 1, 12"x12"x12" composite box assembly w/ locking cover w/ "TRAFFIC SIGNAL"	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$189.00	\$945.00	N/B	N/B
g	logo	J EA	IN/ D	IN/ D	IN/ D	IN/ D	IN/ D	IN/ D	\$169.00	\$945.00	IN/ D	IN/ D
h	Type 2, 13"x24"x12" composite box assembly w/ locking cover w/ "TRAFFIC SIGNAL" logo	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$289.00	\$7,225.00	N/B	N/B
i	Type 3, 17"x30"x12" composite box assembly w/ locking cover w/ "TRAFFIC SIGNAL" logo	15 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$389.00	\$5,835.00	N/B	N/B
j	Type 4, 24"x36"x36" composite stacked box assembly w/ locking cover w/ "TRAFFIC SIGNAL" logo	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$1,455.00	\$36,375.00	N/B	N/B
k	Type 4S, 24"x36"x18" composite box assembly w/ locking cover w/ "GWINNETT DOT" logo	25 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$646.00	\$16,150.00	N/B	N/B
ı	Type 5, 30"x48"x36" composite stacked box assembly w/ locking split lid cover w/ "GWINNETT DOT" logo	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$1,894.00	\$9,470.00	N/B	N/B
m	Type 7, 30"x48"x36" composite box assembly w/ locking split lid cover w/ "GWINNETT DOT" logo	2 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$1,485.00	\$2,970.00	N/B	N/B
58	CCTV Camera System, Type 1 Assembly, Complete	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$3,375.00	\$33,750.00	N/B	N/B
59	Intersection Video Detection											
а	Complete 6 camera system	5 EA	\$14,995.00	\$74,975.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
b	Camera assembly	5 EA	\$1,395.00	\$6,975.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
С	Detection processor	5 EA	\$1,995.00	\$9,975.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
d	Complete 2 camera wired system	5 EA	\$19,995.00	\$99,975.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
е	Complete 2 camera wireless system	5 EA	\$22,995.00	\$114,975.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
f	Suppression	10 EA	\$150.00	\$1,500.00	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
60	Broadband (5.8 GHz) Wireless Ethernet Radio System, Complete	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$2,935.00	\$14,675.00	N/B	N/B
61	Microwave Vehicle Detection											
а	System, Complete	10 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	\$44,680.74	\$446,807.40
b	Emitter (setback)	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	\$6,455.28	\$32,276.40
С	Emitter (stop bar)	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	\$6,073.08	\$30,365.40
d	System Processor	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	\$6.796.14	\$33,980.70
62	Luminaire Arm											
а	10 ft, aluminum	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$700.00	\$3,500.00	N/B	N/B
b	15 ft, aluminum	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$825.00	\$4,125.00	N/B	N/B
С	20 ft, aluminum	5 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$925.00	\$4,625.00	N/B	N/B
63	3/4" Ground rod REJECTED	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B	N/B
64	Down guy anchor rods 7ft	100 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$33.00	\$3,300.00	N/B	N/B
65 66	8" anchor bell (5/8" & 3/4" rod) Universal telescoping pedestrian pushbutton extension bracket w/ 90-degree adapter	100 EA 50 EA	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	\$37.00 N/B	\$3,700.00 N/B	N/B N/B	N/B N/B
								· ·				·
67	Vibration dampers	50 EA	N/B	N/B	N/B	N/B	N/B	N/B	\$2,500.00	\$125,000.00	N/B	N/B
		TOTAL	\$30	8,375.00		9,656.90		,646.95		4,338.80		3,429.90
	Will Vendor Hold Pricing Firm? R			Yes		ncrease		Yes		ncrease		ncrease
	Will Vendor Hold Pricing Firm? R	enewal Option 2		Yes	5% i	ncrease	<u> </u>	Yes	3% ir	ncrease	2% ir	ncrease
	Will Vendor Hold Pricing Firm? R	enewal Option 3		Yes	5% i	ncrease	,	Yes	3% ir	ncrease	2% ir	ncrease
	Will Vendor Hold Pricing Firm? R	enewal Option 4		Yes	5% i	ncrease	,	Yes	3% ir	ncrease	2% ir	ncrease

BL084-25

Purchase of Traffic Signal Electrical Equipment, Material, and Line Hardware on an Annual Contract Department of Transportation

Recommended Vendors:

360 Network Solutions, LLC Attn: William Stalup

2146 Roswell Road, Suite 108 #1105

Marietta, GA 30062 Phone: 678-637-9542 Billy@360ns.net

CDK Enterprises, LLC dba Southern Lighting & Traffic Systems

Attn: Marlin Glass 113 Industrial Park Drive Cumming, GA 30040 Phone: 770-205-9007 Marlin@SouthernItg.com

Control Technologies, Inc. Attn: Tommy Anderson 4487 Park Drive, Suite G Norcross, GA 30093 Phone: 678-238-1901 Tommy@CTTraffic.com CTGaAdmin@CTTraffic.com

Cubic ITS, Inc. Attn: Frank Capone 10545 Hardin Valley Road Knoxville, TN 37932 Phone: 281-269-6579 Contract-Bids@Cubic.com

General Traffic Equipment Corp. Attn: Raymond Steffon 254 Broadway Newburgh, NY 12550 Phone: 845-569-9000

RayS@GeneralTrafficEquip.com

ITS Plus, Inc. Attn: Angel Williams 6220 Trailwood Drive Plano, TX 75024 Phone: 972-639-8701

Angel.Williams@ItsPlus3.com

Temple, Inc. Attn: Tyler Berry 305 Bank Street Decatur, AL 35601 Phone: 800-633-3221

Tyler.Berry@Temple-Inc.com

Universal Signs and Accessories

Attn: Anthony Montoya 3001 Orange Avenue Fort Pierce, FL 34947 Phone: 772-242-9116

AMontoya@UniversalSigns.com

Utilicom Supply Associates, LLC Attn: Vera Spivey 4400 Shackleford Road Norcross, GA 30093 Phone: 404-298-7700 VSpivey@UtilicomSupply.com

Wavetronix, LLC Attn: Robert C. Joyner 1827 West 650 North Springville, UT 84663 Phone:678-670-6227 Georgia@Wavetronix.com